
:Article

+Articlenr : int  -  value = 1001
+Description : string  -  value = A4..squa..
+UnitsOnStock : int  -  value = 10
+SalesPricePerUnit : float  - value = 3.98

+<<constructor>>(........)
+SalesValue () : double

:Article

+Articlenr : int  -  value = 1002
+Description : string  -  value = A4..lined..
+UnitsOnStock : int  -  value = 20
+SalesPricePerUnit : float  - value = 3.88

+<<constructor>>(........)
+SalesValue () : double

:Article

+Articlenr : int  -  value = 1003
+Description : string  -  value = Pencil ..
+UnitsOnStock : int  -  value = 110
+SalesPricePerUnit : float  - value = 0.64

+<<constructor>>(........)
+SalesValue () : double

ApplicationStarter

+main(..)

articleCollection:Arraylist

?

+<<constructur>>
+Add (oblect)
+.........

:ArticlesConsoleApplication

- articleCollection

+<<constructur>>
+CreateTestArticles ()
+DisplayAllArticles ()
+DisplayOneArticle (article)
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